
S
p

e
e

d
 c

o
n

tro
lle

r
B

ra
k

e
 U

n
it

O
p

tio
n

s
In

d
e

x

Speed controller

*

C-21

Unit type

TG

M

UX series
US series



S
p

e
e

d
 c

o
n

tro
lle

r
B

ra
k

e
 U

n
it

O
p

tio
n

s
In

d
e

x

*

C-23

Unit type UX seriesSpeed controller

*

C-22

CW

Wiring diagram

<Caution>

CCW

CW

SIG.
OUT  MODE

RUN  STOP   SS   SD   SET.L

MOTOR SPEED  r/min

RATIO

SET

REAL

SIG.
OUT  MODE

RUN  STOP   SS   SD   SET.L

MOTOR SPEED  r/min

RATIO

SET

REAL

 

 

 

 

 

 

 

 

→
→

 

 

 

→
→

Stop

Stop

 

 
→3→ → → →2020

   

→ → → → →

   90→100→ →

   90→100→ →

 

→ → →
→ → →

  →

→ → →
→ → →

0→ →90→100→ → →

0→ → → → → →

0→ → → → → →



S
p

e
e

d
 c

o
n

tro
lle

r
B

ra
k

e
 U

n
it

O
p

tio
n

s
In

d
e

x

*

C-25

Unit type US seriesUnit typeSpeed controller

*

C-24

 

   

r/min

1500

750

0
5 S

S S SD

10 ×
   

＝5

Speed controller

US series

   

Unit: mm (inch)

Unit: mm (inch)

Unit: mm (inch)

Unit: mm (inch)

(W4)

W3

(W2)

W1

ø4(ø0.16)

(6
1
(2

.4
0
))

1
2
(0

.4
7
)

1
7
(0

.6
7
)

50
(1.97)

48
(1.89)

26
(1.02)

22
(0.87)

50
(1.97)

48
(1.89)

32.5
(1.28)

29.5
(1.16)

32.5
(1.28)

29.5
(1.16)

32.5
(1.28)

29.5
(1.16)

50
(1.97)

48
(1.89)

50
(1.97)

48
(1.89)

Terminal block
(w/ cover)

Power indicator LED
Speed change knob

Terminal block
(w/ cover)

ø4.3
(ø0.17)
hole

Quick connect tab, 
Faston 187 (t0.5 mm, t0.02 inch)2–ø2.5(ø0.098)hole

1.5(6.06)

6
.2

(0
.2

4
4

)

1
0

(0
.3

9
)

m
a

x

H

DW

T

L

Label

Unit: upper (mm)

lower (inch)

L D H T

100 V

200 V

100 V

200 V

White, Black: Power cable
Green: Frame ground

Power cable: 2m(78.74)

Motor 
connector

Operation
switch

RUN

High

Speed change knob

Nameplate

STOP

Low

Power indicator LED

1
0
(0

.3
9
)

1
0
(0

.3
9
)

52.5(2.07)

60(2.36)76(2.99) 3.5(0.14)

89(3.5) (13(0.51))

(110(4.33))

ø
2
2

(ø
0
.8

7
)

8
0

.5
(3

.1
7

)

1
0
0
(3

.9
4
)

9
0
(3

.5
4
)

Capacitor leadwires (350±30 mm)

White, Black: Power cable
Green: Frame ground

Operation switch

Wiring
diagram

Power cable: 2 m(78.74)

Capacitor 
(40 W or smaller versions
contain this capacitor in
the controller box.)

Front panel

Motor connector

Low

STOP

Nameplate

High

RUN

(110(4.33))

ø
2
2

(ø
0
.8

7
)

52.5(2.07)

8
0

.5
(3

.1
7

)

60(2.36)

9
0
(3

.5
4
)

1
0
0
(3

.9
4
)

89(3.5) (13(0.51))

76(2.99) 3.5(0.14)

50.2
(1.98)

26.7
(1.05)

37
(1.46)

36
(1.42)

4
(0.16)

50
(1.97)

30.5
(1.20)

41
(1.61)

41.5
(1.63)

4
(0.16)

50.2
(1.98)

31
(1.22)

41
(1.61)

42
(1.65)

4
(0.16)

50
(1.97)

30.5
(1.20)

41
(1.61)

41.5
(1.65)

4
(0.16)

1. Connect the “motor connector”.

2. Make sure that the                      switch is in “STOP” position. Connect the power cable to the AC source.

3. Turn on power. “Power” indicator will light.

4. Place the                      switch in “RUN” position, and the motor starts.

 CAUTION: Do not place the switch lever in between RUN and STOP.

5. To stop the motor, move the lever to “STOP” position.

 Note that the                      switch does not turn on/off power supply: when not using the motor for a long period, turn off 

the main power switch.

6. If there is a forced cooling fan equipped to the motor, the fan will start rotating when power is turned on to the controller. In 

order to stop the forced cooling fan, please turn off the source of power to the controller.

Terminal “CW” or “CCW” on the controller rear panel should be left open.

When it is necessary to select the rotating 

direction, connect the switch as shown in 

the figure.

Do not operate this switch while the motor 

is running.

Clockwise Connect COM to CW

Counterclockwise Connect COM to CCW

Power supply

MotorController

Extension cord

Ground the return circuit to

the earth terminal.

: 5A

circuit interrupter in 

the power supply.

Power
switch

Capacitor

Capacitor cap

Ground the return circuit to 

the earth terminal.

* In the case of models with a 
model number to which “A” is 
suffixed, the capacitor cap is 
optional.
The models with a model 
number to which “A” is suffixed 
(not equipped with a capacitor 

Japan.

<Recommended circuit breakers>

Sensata Technologies, Inc.

  Rated current 5 A, current breaking characteristic 

  Recommended current breaking characteristic: 

a capacitor is built in to the speed 
controller body. 

more,a capacitor is external 
connection. 
Do not remove the line of 
capacitor, please use it as such.

switch

RUN
STOP
Low High With the speed setting knob turned fully clockwise, adjust 

When a gear head is connected, the direction of its output shaft may 

or may not be the same as that of motor shaft depending on the 

reduction ratio.

Switch

Remove 
the jumper 
lead.

COM
CW
CCW
AC
AC
FG

Remove 
the jumper 
lead.

Capacitor
Please do not remove 
the connection of 
the capacitor. 

COM
CW

CCW
AC
AC
FG

Switch

 

 

 

 

Unit type UX series

Unit type US series



Unit typeSpeed controller

*

C-26

1. Drill 2 square holes in the object.

2. Secure the controller and front panel with 2 M4 screws.

Wall thickness of the equipment where the controller is to be mounted should be 2 mm or less. 

1. Drill 2 square holes in the wall of the object.

2. Remove the front panel from the controller.

3. Secure the controller body with M3 flat-head screws and nuts.

4. Place the front panel on the wall and secure the panel with M4 screws and nuts.

When installing the speed controller at a distance more than 1 m from the motor, use optional 

“extension cord” that is supplied as standard accessory (allowable distance 5 m).

Refer to page D-4 (Option).

8
1

+
1

  
0

9
0

±
0
.2

53 +1
  0

(2.09      )+0.039
  0

2- M4 or 2- ø4.5(ø0.18)

Controller

2- M4 screw
Object

Nut

Controller
2.0 mm max.

2- M4 screw

Body mounting screw (M3 flat-head)

Front panel

(3
.1

9
  
  
  
)

+
0
.0

3
9

  
0

(3
.5

4
 ±

0
.0

0
8
)

Unit: mm (inch)

Unit: mm (inch)

9
0

 ±
0
.2
(3

.5
4

 ±
0
.0

0
8
)

50 ±0.2

13.2 ±0.2

(0.52 ±0.008)

(1.97 ±0.008)

1
5

 ±
0
.2
(0

.5
9

 ±
0
.0

0
8
)

1
2

 ±
0
.2
(0

.4
7

 ±
0
.0

0
8
)

2
6

 ±
0
.2
(1

.0
2

 ±
0
.0

0
8
)

2 – ø7.5(ø0.30)

4 – ø3.5(ø0.14)

(Cross section A)

ø7(ø0.28)

ø23(ø0.91)

ø17(ø0.67)

ø
3
.5

(ø
0
.1

4
)

(Cross section A)

ø
6
.5

(ø
0
.2

6
)

Unit type


